## RESOLUTION NO. <u>11-17</u> CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER John Blals ON THE \_\_\_\_\_\_ ON THE \_\_\_\_\_\_ DAY OF Ilbruary \_\_\_\_\_, 2017.

A RESOLUTION ACCEPTING THE BIDS SUBMITTED BY GREEN VELVET SOD FARMS, SUNRISE, AND SITE ONE FOR FERTILIZER FOR THE GOLF CLUB AT YANKEE TRACE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO CONTRACTS IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for fertilizer for The Golf Club at Yankee Trace according to specifications prepared by the City, and

WHEREAS, Green Velvet Sod Farms, Sunrise, and Site One Landscape Supply were the lowest and best bidders on various products.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the following bids totaling **\$24,936.75** are hereby accepted for fertilizers for The Golf Club at Yankee Trace, are marked as Exhibits "A," "B," "C," attached hereto and made a part hereof:

- A. Green Velvet Sod Farms \$13,132.50 250 bags of 15-0-4/ Merit/25% nsn 215sgn \$ 3,967.50 25-0-9 80% nsn 1% mg 1% mn \$7,049.00 18-9-18 Anderson Contec DG 75sgn \$2,116.00
- B. Sunrise \$2,610.00 250 bags of 30-0-10 50% Regain sgn 215 \$2,610.00
- C. Site One Landscape Supply \$9,194.25 475 bags 12-0-0 0.15% Dimension 30% polyplus 215sgn \$7,082.25 320 gal Lesco Iron chelated Zn \$2,112.00

Section 2. The City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payment pursuant thereto.

2017.

PASSED this 20th day of February , ,

Mayor of the City of Centerville, Ohio

ATTEST: Carin R. andrews

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 11-17, passed by the Council of the City of Centerville, Ohio on the 20th day of February 2017.

Indrew

Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney



EXHIBIT "A"

## YANKEE TRACE GOLF COURSE FERTILIZER BID 2017 FERTILIZER BID PRODUCTS

2/1/2017

	UOM	Quantity	UNIT PRICE	TOTAL
12-0-3 .15% Dimension 25% SCU sgn 215	bag	475	\$15.10	\$7,172.50
15-0-4 w/ Merit 25% nsn (sgn 215)	bag	250	\$15.87	\$3,967.50
25-0-9 80% NSN 1% MG 1% MN (sgn 150)	bag	380	\$18.55	\$7,049.00
30-0-5 50% SCU	bag	250	\$13.30	\$3,325.00
18-9-18 Contec DG	bag	40	\$52.90	\$2,116.00
15-0-0 Ferromec (alt for 12-0-0 Fe and Zn)	gallon	320	\$8.95	\$2,864.00
				\$26,494.00

CRAIG FRYMAN 937-603-8414

## Yankee Trace Golf Course Fertilizer

Submitted for February 8, 2017 City Manager City of Centerville 100 West Spring Valley Road Centerville, Ohio 45458 Sunrise 818 South US 42 P.O. Box 117 Lebanon, OH 45036 Bob LaChance

Contact Name: Terry Taylor

Fertilizers	Unit			Price/Unit	Extended Price	
475	50#	12-0-3 .15 Dimension 25% slow release 215 SGN	12-0-0 .15 Dimension, 100% NS Regain	\$14.86	\$7,056.69	
250	50#	15-0-4; Merit .2%; 25% slow release; 215 SGN	15-0-5 + .2 Mallet, 100% Regain, SGN 215		\$4,074.07	
250	50#	30-0-10; 50% slow release; 215 SGN	30-0-10 50% Regain, SGN 215	\$10.44	\$2,610.12	
320	gal	12-0-0 chelated Iron + zinc	Fore 12-0-0, 6% Fe, Chelated, 4% S, 2% Chelated Mn	\$6.23	\$1,992.38	

15,733.26



1385 East 36<sup>th</sup> St. Cleveland, OH 44114 bids@siteone.com 216-706-9250 ex. 2550

City of Centerville 100 West Spring Valley Rd. Centerville OH 45458

In Reference to: Yankee Trace Golf Course Fertilizer Bid 2017

Line #	Item #	Item Bidding	Qty	Unit Price	Extended Price	
1	702016	Dimension 0.15% 13-0-5M 30%Polyplus LESCO, SGN 150 Item Note: Alternate to 12-0-3 .15% Dimension 25% slow release	475	18.620	8,844.50	
2	702329	Dimension 0.15% 13-0-5 25% PolyPlus LESCO, SGN 215 Item Note: Alternate to 12-0-3 .15% Dimension 25% slow release	475	15.280	7,258.00	
3	702013	Dimension 0.15% 12-0-0 30%Polyplus LESCO, SGN 215 Item Note: Alternate to 12-0-3 .15% Dimension 25% slow release	475	14.910	7,082.25	
4 =	291461	Merit 0.2% 14-0-14 30% Polyplus, SGN 215 Item Note: bidding for the 14-0-14 Merit .20%, 20% slow release	250	16.900	4,225.00	
5	510148	24-3-12M 80% Polyplus 1Fe, SGN150 Item Note: bidding for the 24-3-24 80% slow release	380	22.680	8,618.40	
6	510139	30-0-10 50% Polyplus, SGN 215	250	13.760	3,440.00	
7		Andersons 18-9-18 DG Pro	0	NO BID	NO BID	
8		LESCO Iron + Chelated Zn 2.5 Gal Item Note: bidding for the 12-0-0 + Iron & Zinc	128	16.490	2,110.72	

All fertilizer comes in 50lb./bags. For questions, contact your local branch (list of local branches attached.) Local Sales Rep: Dave Haas (p) 513-544-7411 or <u>bids@siteone.com</u>

We appreciate your business.

Regard avoile

Molly-Wh Vorous Senior Bid Representative

41,568,87